Expected

Distribution Parameters PMF /PDF Support Value Variance MGF
Bernoulli O<p<1
Bern(p) g=1- P(X =k)=p'q ke {0,1} p Pq q + pe'
Binomial O<p<l1
Bin(n, p) nel,?2 P(X =k)= (k) ke{0,1,...n} np npq (q + pet)™
Geometric O<p<l1 .
Geom(p) g=1- P(X =k)=q"p ke{0,1,...} a/p q/p* s get <1
First Success O<p<l1 -
FS(p) g=1- P(X=k)=q¢"p kefl,2,...} 1/p q/p° 2 get <1
Neg. Binomial r>0 Etr—1
NBin(r, p) 0<p<l1 P(X =k)= ( ke{0,1,...} rq/p rq/p* (%;et)r, get < 1
Hypergeometric w,b e {1,2
HGeom(w, b, n) nef{l,2,...} PX=k)= (3’:)( ke{0,1,...,n} n= Z’)ﬂ:’f) nk(1—-£) messy
Poisson e—M\k )
Pois()\) A >0 P(X =k) = N ke{0,1,...} A A e =)
Uniform 1 b (b—a)? th_gta
Unif(a, b) a<b f(z) = P x € (a,b) o = et(b_—Z)
Normal peR 1 , 2,2
N (u, o? o2 >0 x e~ (@ m?/?) r € (—00, 00 o? etht 3
(1.5°) fa) = —=e (~o0,00) p
Exponential f(z) = >\€fo
Expo()\) A>0 F(x) = A z € (0,00) 3 3% 2o <A
Gamma a>0 A Y
Gamma(a, \) A>0 f(z) = mx“ “ z € (0,00) S = (25)" . t<A
Beta a>0 [(a+0b) _
Beta(a, b) b>0 f(ZL‘) = WI‘G_I(I —$)b_1 T &€ (0, 1) n= aLH) (Z(jbfl)) messy
Log-Normal nweR 1
LN (11, 0%) o2 >0 flz) = ———¢(osz=w?/(27%) x € (0,00) f = erto’/? 0%(e”” — 1) doesn’t exist
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